
IRES Fotowoltaika Sp. Z o.o.

Catalog of packaged kits

vol 1. issue 1

Tel. +48733800980
WhatsApp +48579830168
 

Office Address:
 Poland, Katowice, 
3 Maja 22/2C
40-096

Warehouse Address:
Poland, Bytom
 Bernardyńska 1 41-
902

Id:PL6342993680
REGON:388527784
KRS:0000891570

biuro@ires-fotowoltaika.pl
https://ires-fotowoltaika.com
https://ires-b2b.eu

mailto:biuro@ires-fotowoltaika.pl


PV mounting kits with roof hooks 

set for 2 panel roof hooks set for 3 panels roof hooks 
The set includes:
Aluminum profile 40x40x1.2 T-bolt 1.2 m - 4 
pcs
Double adjustable roof hook Vario type Z 
(Optional) - 4 pcs
Connector for mounting profiles silver 120mm 
- 2 pcs
Middle clamp klik black 30-40mm - 2 pcs
Adjustable end clamp black 30-42.5mm - 4 pcs
Allen screw M8 X 16 - 4 pcs
Slot nut M8 - 4 pcs
Hammer head screw M10 X 25 - 8 pcs
Flange nut M10 - 8 pcs
Wood screw 8X80 Galvanized steel - 8 stk  
(Wood screw 8X80 A2 Optional)
Plastic cap 40x40 black - 4 pcs

(If you need silver color for the elements, write 
it in the description when ordering)

The set includes:
Aluminum profile 40x40x1.2 T-bolt 1.2 m - 6 
pcs
Double adjustable roof hook Vario type Z 
(Optional) - 6 pcs
Connector for mounting profiles silver 120mm 
- 4 pcs
Middle clamp klik black 30-40mm - 4 pcs
Adjustable end clamp black 30-42.5mm - 4 pcs
Allen screw M8 X 16 - 4 pcs
Slot nut M8 - 4 pcs
Hammer head screw M10 X 25 - 14 pcs
Flange nut M10 - 14 pcs
Wood screw 8X80 Galvanized steel - 12 stk  
(Wood screw 8X80 A2 Optional)
Plastic cap 40x40 black - 4 pcs

(If you need silver color for the elements, write 
it in the description when ordering)



PV mounting kits with trapezoid 330mm 

set for 2 panel trapezoid 330mm set for 3 panel trapezoid 330mm

The set includes:
Trapezoidal bridge T40 330mm - 6 
pcs
Sheet metal screw 6X25 - 36 pcs
Middle clamp klik black 30-40mm - 
2 pcs
Adjustable end clamp black 30-
42.5mm - 4 pcs
Allen screw M8 X 16 - 4 pcs
Slot nut M8 - 4 pcs

(If you need silver color for the 
elements, write it in the description 
when ordering)

The set includes:
Trapezoidal bridge T40 330mm - 8 
pcs
Sheet metal screw 6X25 - 48 pcs
Middle clamp klik black 30-40mm - 
4 pcs
Adjustable end clamp black 30-
42.5mm - 4 pcs
Allen screw M8 X 16 - 4 pcs
Slot nut M8 - 4 pcs

(If you need silver color for the 
elements, write it in the description 
when ordering)



PV mounting kits with hanger bolt M10X200 

set for 2 panel hanger bolt M10X200 set for 3 panel hanger bolt M10X200
The set includes:
Aluminum profile 40x40x1.2 T-bolt 1.2 m - 4 
pcs
hanger bolt M10X200 - 4 pcs
Mounting adapter - 4 pcs
Connector for mounting profiles silver 120mm 
- 2 pcs
Middle clamp klik black 30-40mm - 2 pcs
Adjustable end clamp black 30-42.5mm - 4 
pcs
Allen screw M8 X 16 - 4 pcs
Slot nut M8 - 4 pcs
Hammer head screw M10 X 25 - 8 pcs
Flange nut M10 - 8 pcs
Plastic cap 40x40 black - 4 pcs

(If you need silver color for the elements, 
write it in the description when ordering)

The set includes:
Aluminum profile 40x40x1.2 T-bolt 1.2 m - 6 
pcs
hanger bolt M10X200 - 6 pcs
Mounting adapter - 6 pcs
Connector for mounting profiles silver 
120mm - 4 pcs
Middle clamp klik black 30-40mm - 4 pcs
Adjustable end clamp black 30-42.5mm - 4 
pcs
Allen screw M8 X 16 - 4 pcs
Slot nut M8 - 4 pcs
Hammer head screw M10 X 25 - 14 pcs
Flange nut M10 - 14 pcs
Plastic cap 40x40 black - 4 pcs

(If you need silver color for the elements, 
write it in the description when ordering)



PV mounting kits for flat roof ballast

set for 1 panel flat roof ballast set for 2 panel flat roof ballast

The set includes:
Mounting triangle 15* - 2 pieces
Profile for ballast - 2 pairs
Adjustable end clamp black 30-
42.5mm - 4 pcs
Allen screw M8 X 20 - 4 pcs
Nut lock M8 - 4 pcs

(If you need silver color for the 
elements, write it in the description 
when ordering)

The set includes:
Mounting triangle 15* - 3 pieces
Profile for ballast - 3 pairs
Middle clamp black U24 - 2 pcs
Adjustable end clamp black 30-
42.5mm - 4 pcs
Allen screw M8 X 30 - 6 pcs
Nut lock M8 - 6 pcs

(If you need silver color for the 
elements, write it in the description 
when ordering)


